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$data="CBCAAABBBCCBAABAACCBAACCAACAACAA";
$a=str _replace("CA","AC",%$data);

echo $a,"¥n";

$a=str _replace("AC","CA",%$data);

echo $a,"¥n";

var_dump($data==%$a);
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$data="CBCAAABBBCCBAABAACCBAACCAACAACAA";
echo preg_match("/~C/",$data),",";

echo preg match("/A$/",$data),",";

echo preg_match("/CAB/",%$data),",";

echo preg_match("/C.C/",%$data),",";

echo preg match("/A[AB]C/",$data),",";
echo preg match("/A[~AB]C/",$data),"¥n";
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$data="CBCAAABBBCCBAABAACCBAACCAACAACAA";
echo preg match("/CCcC*/",$data),",";

echo preg match("/CCC+/",%$data),",";

echo preg match("/AB?C?/",$data),",";
echo preg match("/CA{3}/",$data),",";
echo preg match("/ABC|CBB/",$data),"¥n";
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echo preg match("/(Red|White) glove/",$data),",";
echo preg match("/(Re|re)d/",$data),",";

echo preg match("/[Rr]ed/",$data),"¥n";

echo preg match("/R.+d/",$data, $match),",";

echo $match[0],"¥n";

echo preg _match("/R.+?d/",$data,$match),",";

echo $match[0],"¥n";

echo preg _match("/r.+?d/",$data,$match),",";

echo $match[0],"¥n";

echo preg_match_all("/r.+?d/",$data,$match),",";
echo implode(",",$match[0]),"¥n";

echo preg match_all("/r.+?d/i",$data,$match),",";
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function replace($from,$to,$data){

$wk = preg_replace($from,$to,$data);

echo $wk,"¥n";

return $wk;
}
$data="He who runs after two hares will catch neither.
Nothing ventured, nothing gained.";
$res=replace("/(.{30})/","$1¥n",$data);
$res=replace("/(.{30})/s","$1¥n",$data);
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